
¢y•yîû’ !˜öì”Å!Ÿ„þy

1Ð ö„þy!¦þvþéôé19 x!“þ›y!îûîû xyîöì£ !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îÄy£“þ £öìëûöìŠéÐ ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Äç
!ŸÇþyíÅ#öì”îû þ™àþ˜éôéþ™yàþ˜ xîÄy£“þ îûy…yîû vþzöìjöìŸÄ£z ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñéôé~îû ¢)eþ™y“þÐ

2Ð ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Ä !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îr• íy„þöìœç !ŸÇþyíÅ#öì”îû x!¦þ¦þyî„þöì”îû ›y•Äöì›
²Ì!“þ ›yöì¢ !›vþéôéövþ !›œ !î“þîû’ „þîûy £öìFŠééÐ !›vþéôéövþ !›öìœîû ¢öìA†£z x!¦þ¦þyî„þöì”îû £yöì“þ “%þöìœ ö”çëûy £öì‰Šé
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œÐ þ™öìîûîû ›yöì¢ !›vþéôéövþ !›œ ¢‚@ùÌ£ „þîûyîû ¢›ëû x!¦þ¦þyî„þîûy !ŸÇþyíÅ#öì”îû „þîûy ›öìvþœ
xÄy!Q!¦þ!Ýþ Ýþyöìßþñîû vþz_îû†%!œ ›)œÄyëûöì̃ îû ‹˜Ä !ŸÇþ„þéôé!Ÿ!Çþ„þyöì”îû £yöì“þ “%þöìœ !”öì‰Šé˜Ð

3Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃ îû þ™öìí !ŸÇþyíÅ#îûy „þ# „þ# xhsþîûyöìëûîû
¢Á¿%…#˜ £öì‰Šé !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy “þy !‰þ!£«“þ „þîûöì“þ þ™yîûöìî˜ ç ëíyëí îÄîÞíy !˜öì“þ þ™yîûöìî˜Ð

4Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ öíöì„þ£z îyŠéy£z „þöìîû !î!¦þ§¬ ö×!’îû ‹˜Ä !˜!”ÅTþ›yöì̃ îû ²ÌÙÀþ™e ÷“þ!îû „þîûy £öìëûöìŠéÐ

5Ð !ŸÇþyíÅ#îûy ²ÌÙÀ†%!œîû vþz_îû !œ…öìîÐ

6Ð !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy !î”Äyœöìëû îöì¢£z vþz_îûþ™e†%!œîû ›)œÄyëû̃  „þîûöìî˜Ð

7Ð vþz_îûþ™e†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› !ŸÇþyíÅ#îûy „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃  „þ“þÝþy ¢šþœ £öìœy “þy !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy
î%Gþöì“þ þ™yîûöìî˜Ð



îy‚œy S²Ìí› ¦þy¡ìyV
”Ÿ› ö×!’

þ™)’Å›y˜ éôé 50

1.  !àþ„þ vþz_îû!Ýþ öîöìŠé !˜öìëûû öœöì…y õ 1 × 5 = 5

1.1 “þþ™öì̃ îû öœ…y öë †Ò!Ýþ ò¢r•Äy“þyîûyó þ™!e„þyëû Šéyþ™y £öìëû!Šéœôôôé

„þV îûy‹y ç îûy!˜

…V xÄy„þ!¢öìvþrÝþ

†V ²Ìí› !”˜

‡V ßþ%ñöìœ ¦þîû!“þ £çëûyîû !”öì̃ îû x!¦þKþ“þy

1.2 þ™yàþÄ òx¢%…# ~„þ‹˜ó „þ!î“þy!Ýþîû x %̃îy”„þéôôôé

„þV ŸC ö‡y¡ì

…V ˜îyîû%’ ¦þRy‰þyëÅ

…V vþzêþ™œ„%þ›yîû î¢%

‡V ›y˜öìîw îöì¨Äyþ™y•Äyëû

1.3 òxy!šÊþ„þyó „þ!î“þy!Ýþ îûî#w˜yí àþy„%þöìîûîû öë „þyîÄ@ùÌöìrí îûöìëûöìŠééôôôé

„þV ›y˜¢#

…V !‰þey

†V þ™eþ™%Ýþ

‡V ÷˜öìî”Ä

1.4 òîyî% „%þ£zœ vÈþy£z¦þyîû¢ó „þíy!Ýþ îœöì“þ˜éôôôé

„þV çëûyÝþyîû›Äy˜

…V œvÅþ „þy‹Å̃

†V vþz£z!œëûy› ö‹yª

‡V vþz£z!œëûy› ö£!ÞÝþ‚¢

1.5 öë „þyîÄ@ùÌrí!Ýþ ŸC ö‡yöì¡ìîû öœ…y ˜ëûéôôôé

„þV !”˜ ç îûy!e

…V !”˜†%!œ îûy“þ†%!œ

†V þ™¤y‹öìîû ”¤yöìvþüîû Ÿ·

‡V •)› öœöì†öìŠé £,ê „þ›öìœ

2. „þ›éôéöî!Ÿ 20!Ýþ Ÿöì·îû vþz_îû öœöì…y õ 1 × 5 = 5

2.1 ò¢›y!˜ ¢› Ÿ#¡ìÅy!’ ‡˜y!˜ !îîûœy!˜ ‰þó ôôôé „þíy!Ýþîû xíÅ „þ#Ú

2.2 òxy!šÊþ„þyó „þ!î“þyëû !”öì̃ îû x!hsþ›„þyœ „þ#¦þyöìî ö‡y!¡ì“þ £öìëû!ŠéœÚ



2.3 òxyëû xyöìîûy öî¤öì• öî¤öì• íy!„þó „þ!î“þyëû „þ!î òþ™yöìëû þ™yöìëû !£›y˜#îû î¤y•ó îœöì“þ „þ# !˜öì”ÅŸ „þöìîûöìŠé˜Ú

2.4 ò›y÷ì¦þõ ›y÷ì¦þõó éôôôé ~›˜ vþzF‰þyîûöì’îû „þyîû’ „þ#Ú

2.5 ò...”%‹˜ îr•% ö˜y„þ xy¢yîû „þíy !Šéœ–ó éôôôé îr•%öì”îû ö„þyíy öíöì„þ xy¢yîû „þíy !ŠéœÚ

3. ²Ì¢A† !˜öì”ÅŸ¢£ „þ›éôéöî!Ÿ 60!Ýþ Ÿöì·îû ›öì•Ä vþz_îû öœöì…y õ 3 × 2 = 6

3.1 òö“þyîûy ¢î ‹ëû•¹!˜ „þîûÐó éôôôé „þyîû ‹ëû•¹!˜ „þîûöì“þ „þ!îîû ~£z xy£¹y˜Ú

ö„þ˜ “þyîû ò‹ëû•¹!˜ó „þîûöì“þ £öìîÚ 1 + 2

3.2 ò…%î£z †!îûî ›y %̃¡ì £!îû”yÐó

£!îû”yîû þ™!îû‰þëû ”yçÐ “¤þyîû ”y!îûöìoÄîû Šé!î òî£%îû)þ™#ó †öìÒ „þ#¦þyöìî ²Ì!“þ¦þy!¢“þ £öìëûöìŠéÚ 1 + 2

4. „þ›öìî!Ÿ 125 Ÿöì· ˜#öì‰þîû ²ÌÙÀ!Ýþîû vþz_îû ”yç Ð 4

ò›öì̃  £ëû– çîû !˜Ù»yöì¢ !î¡ì– çîû ”,!Tþöì“þ xy†%̃ – çîû xA†éôé¢Mþyœöì̃  ¦)þ!›„þÁ™Ðó

éôôôé vþzå•,!“þ!Ýþîû xyöìœyöì„þ ‡öì¢!Ýþ öî†öì›îû ‰þ!îûe÷ìî!ŸTþÄ xyöìœy‰þ˜y „þöìîûyÐ

5. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû !˜öì‹îû ¦þy¡ìyëû öœöì…y S„þ›éôéöî!Ÿ 150 Ÿ·V õ 5 × 2 = 10

5.1 ò”¢%Äîûy „þ#¦þyöìî xy!šÊþ„þyîû £z!“þ£yöì¢ !‰þîû!‰þ£« ~¤öì„þ !”öìëû !†öìëû!Šéœ– “þy òxy!šÊþ„þyó „þ!î“þy x %̃¢îûöì’ xyöìœy‰þ˜y „þöìîûyÐ

5.2 òîyî%!‹– ~¢î „þíy îœyîû ”%ƒ… xyöìŠéÐó éôôôé î=þy ö„þÚ ö„þy ä̃ „þíyîû þ™!îûöì²Ì!Çþöì“þ ö¢ ~„þíy îöìœöìŠéÚ

6. ˜#öì‰þîû ²ÌÙÀ!Ýþîû vþz_îû !˜öì‹îû ¦þy¡ìyëû öœöì…y S„þ›éôéöî!Ÿ 150 Ÿ·V õ 5

ò!Çþjy– ~îyîû xy›îûy „þ# …yîÚó éôôôé vþzå•,!“þ!Ýþîû xyöìœyöì„þ ö„þy!˜îû ësþf’y!îå• ‹#î˜ëyeyîû þ™!îû‰þëû ”yçÐ

7. !˜öì”ÅŸ x %̃ëyëû# vþz_îû ”yç õ 1 × 3 = 3

7.1 x %̃¢†Å £öìœy ~„þ²Ì„þyîûéôôôéé

S„þV !îöìŸ¡Äì þ™” S…V !îöìŸ¡ì’ þ™”

S†V ¢îÅ̃ y› þ™” S‡V xîÄëû þ™”

7.2 ò!î¦þ!=þ „þ…öì̃ y£z œ%® £ëû ˜yéôôôéþ

S„þV „þ›Å„þyîûöì„þ S…V „þîû’ „þyîûöì„þ

S†V ¢Áºr• þ™öì” S‡V „þ“þÅ,„þyîûöì„þ

7.3 !˜öì”ÅŸöì„þîû ~„þ!Ýþ vþz”y£îû’ £öìœyéôôôé

S„þV ££zöì“þ S…V „þ“Å,þ„þ

S†V ‹˜Ä S‡V †%!œ

8. îÄy¢îy„þÄ¢£ ¢›y¢ !˜’Åëû „þöìîûy õ 1 × 3 = 3

ö¦þy‹Äîhß$þ– öþ™yŸy„þéôéþ™!îûFŠé”– ¢r•Äy!£«„þ

9. „þ›öìî!Ÿ 150 Ÿöì· ²Ì!“þöìî”˜ îû‰þ˜y „þöìîûy õ 5

œvÅþöì¢ îû%å•Ù»y¢ ‹ëû ¦þyîû“þ#ëû !„Êþöì„þÝþéôé”öìœîûÐ

10. îA†y %̃îy” „þöìîûy õ 4
Home is the first School where the Child learns his first lesson. He sees, hears and begins to learn at home.
It is home that builds his Character. In a good home honest and healthy men are made.



îy‚œy S!m“þ#ëû ¦þy¡ìyV
”Ÿ› ö×!’

þ™)’Å›y˜ éôé 50

1.  ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3 × 10 = 30

1.1 òö„þ£ îöìœ îÊyáöì’öìîû ˜y îœ ~›˜Ð
¢y›y˜Ä › %̃¡ìÄ î%!Gþ ˜y £öìî ~ ‹˜ÐÐóôôôé

éôôôé vþzå•,“þy‚öìŸ òîÊyá’ó ö„þÚ “¤þyîû !îîû%öìå• „þ# îœy £öìëû!ŠéœÚ “¤þyîû ö„þy ä̃ xy‰þîûöì’îû !¦þ!_öì“þ “¤þyöì„þ ¢y›y˜Ä ›y %̃¡ì
!£öì¢öìî !îöìî‰þ˜y „þîûöìœ ¦%þœ £öìîÚ

1.2 ò†%’›ëû ££zöìœ£z– ›y˜ ¢î à¤þy£zÐ
†%’£#öì̃  ¢›y”îû– ö„þyöì̃ y…yöì̃  ˜y£zÐÐóôôôé

éôôôé ò…œ ç !˜ %̈„þó „þ!î“þyëû vþz=þ ²Ì¢A†!Ýþ „þ!î ö„þy ä̃ ö„þy ä̃ vþzþ™›y “%þœ˜yîû ¢y£yöìëÄ !îŸ” „þöìîûöìŠé˜Ú

1.3 ò› %̃öì¡ìÄîûy îöìvþüy îÄy‡Ê¦þ=þÐó

éôôôé î=þy ö„þÚ „þ#¦þyöìî ö¢ ~£z !¢å•yöìhsþ  vþzþ™˜#“þ £öìëûöìŠéÚ

1.4 òxy”!îû’#ó †öìÒ ~„þ!Ýþ ›)„þ þ™Ÿ%îû ²Ì!“þ öœ…öì„þîû ¦þyöìœyîy¢y „þ#¦þyöìî îy’#îû)þ™ œy¦þ „þöìîûöìŠé– “þy xyöìœy‰þ˜y „þöìîûyÐ

1.5 ò¢îöì‰þöìëû îöìvþüy ”%ƒ… xy‹ “þyîû „þ›Å£#˜ ‹#î˜Ðóéôôôé¢¨#þ™˜ þ™yàþŸyœyó îû‰þ˜y‚Ÿ x %̃¢îûöì’ ö¢£z ësþf’y›!í“þ ‹#îöì̃ îû
þ™!îû‰þëû ”yçÐ

1.6 ò›!îû– ~ „þ# „þíy îûy‹y!•îûy‹...ó

éôôôé vþzå•,“þy‚öìŸ ò›!îûó Ÿ·!Ýþ ö„þy ä̃ ¦þyî˜yîû ö”Äy“þ„þÚ

îûy‹y!•îûyöì‹îû ö„þy ä̃ „þíy Ÿ%öì̃  ö×y“þyîû ›öì̃  ~›˜ ²Ì!“þ!„Êþëûy £öìëûöìŠéÚ

1.7 òþ™öìí þ™öìvþü x¢£yëû...ó

éôôôé “þyöì”îû ²Ì!“þ ö„þy ä̃ x %̃¦)þ!“þîû ²Ì„þyŸ ò‰þy!£öìî ˜y !šþöìîûó „þ!î“þyëû !î!Áº“þ £öìëûöìŠéÚ

1.8 òx¤y•yîû îû‹!˜ “þyîû îûöìî !˜îûhsþîûóÐ

éôôôé ò‰þy!£öìî ˜y !šþöìîûó „þ!î“þy x %̃¢îûöì’ vþzå•,“þy‚öìŸîû !‰þe„þÒ!Ýþ îÄy…Äy „þöìîûyÐ

1.9 ò›%öì…yþ™y•Äyëû ›£yŸöìëûîû £,”ëû…y!˜ x“þÄhsþ ö„þy›œ ç ößþ¬£²Ìî’ ££zöìœç ö›‹y‹Ýþy !„þŠ%é îû%ÇþóÐ

éôôôé òxy”!îû’#ó †Ò x %̃¢îûöì’ ›%öì…yþ™y•Äyëû ›£yŸöìëûîû £,”öìëûîû ö„þy›œ“þy ~î‚ îû%Çþ“þyîû þ™!îû‰þëû ”yçÐ

1.10 òîûb£yÝþ ö”…öìœ „þy§¬y þ™yëûóÐ

éôôôé vþzå•,!“þ!Ýþîû xyöìœyöì„þ ë%å•!î•¹hßþ îûb£yöìÝþîû !îîîû’ ”yçÐ

2. !˜Á¬!œ!…“þ îÄy„þîû’†“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ 1 × 5 = 5

2.1 !àþ„þ vþz_îû!Ýþ öîöìŠé !˜öìëû öœöì…y õ

2.1.1  !˜öì”ÅŸ„þ !˜öì”ÅŸ „þöìîû   S„þV  !œA† S…V  î‰þ˜ S†V „þyîû„þéôé¢Áºr• S‡V  þ™%îû%¡ì

2.1.2   x %̃=þ „þ“Åþy ö”…y ëyëû   S„þV  „þ“Å,þîyöì‰þÄ S…V  „þ›Åîyöì‰þÄ S†V ¦þyîîyöì‰þÄ S‡V  „þ›Å ç
¦þyîîyöì‰þÄì

2.1.3  îyöì„þÄîû !„Êþëûy ç „þ“Åþy ~„þ£z •y“%þ öíöì„þ vþzêþ™§¬ £öìœ– ö¢£z „þ“Åþyöì„þ îöìœ

  S„þV  îÄ!“þ£yîû „þ“Åþy S…V  !˜îûöìþ™Çþ „þ“Åþy S†V ¢£öìëy†# „þ“Åþy S‡V  ¢›•y“%þ‹ „þ“Åþy



2.1.4 •y“%þ!î¦þ!_« ë%_« £ëû

 S„þV  „þ›Åþ™öì”îû ¢öìA† S…V  ˜y›þ™öì”îû ¢öìA† S†V !„Êþëûy!î¦þ!=þîû ¢öìA† S‡V  •y“%þîû ¢öìA†

2.1.5 ¢›y¢ !˜’Åëû „þîûy £ëû

S„þV  þ™)îÅþ™” x %̃¢yöìîû S…V  þ™îûþ™” x %̃¢yöìîû S†V ¢›hßþþ™” x %̃¢yöìîû S‡V  îÄy¢îy„þÄ x %̃¢yöìîû

2.2 ˜#öì‰þîû îy„þÄ†%!œîû ›öì•Ä !˜Á¬öìîû… þ™”†%!œîû „þyîû„þéôé!î¦þ!=þ !˜’Åëû „þöìîûy õ 1 × 5 = 5

2.2.1  ¦þyöìœy– ›¨– ö”y¡ì– †%’– xy•yöìîûöì“þ •öìîûÐ

2.2.2  ~Çþöì’ ö£ ¼y“,þî,̈ é  ôôééôôôééôôôééôôôééôôôéæ

2.2.3  !“þ!˜ ¦%þ‹îöìœé  
ôôôééôôôééôôôééôôôééôôôé

 xy›yöì”îû Ÿy¢˜ „þ!îûöì“þ˜ ˜yÐ

2.2.4  ›yÞÝþyîû›Ÿyëû ›yöìGþ ›yöìGþ xy›yöì”îû þ™yàþ›îû%Þíœ#î ûé    
ôôôééôôôééôôôééôôôééôôôééôôôéôôôé

é ›öì•Ä Šéyþ™yöì̃ y î!£îû ”!Çþ’ £yçëûy xy!˜îyîû ö‰þTþy „þ!îûöì“þ˜Ð

2.2.5  îû!îîyîû ¢„þyöìœ !î¡Ö$îûé 
ôôééôôôééôôôééôôé

 „þyöìŠé †y˜ !Ÿ!…öì“þ ££z“þÐ

3. îÄy¢îy„þÄ¢£ ¢›y¢ !˜’Åëû „þöìîûy õ 1 × 5 = 5

ö›yÝþéôé‡yÝþ– xßþº#„þyîû– ‹§Ã¦)þ!›– !¢r•%“þ#öìîû– ‹ëû•¹!˜

4. ²ÌŸy¢!˜„þ þ™e îû‰þ˜y „þöìîûy õ 5

ö“þy›yîû ~œy„þyëû îûyhßþyéôé‡yöìÝþîû ¢‚ßþñyöìîûîû xyöìî”˜ ‹y!˜öìëû ¢‚!ÙÕTþ „þ“,Åþþ™öìÇþîû „þyöìŠé ~„þ!Ýþ þ™e îû‰þ˜y „þöìîûyÐ



ENGLISH FIRST LANGUAGE
Class – X

Full Marks : 50

1. Choose the correct answer from the given alternatives: 1×2=2

(i) The first book that little Greene read was about an adventure of

(a) a voyager  (b) a detective

(c) a pilot  (d) a knight

(ii) The “silent wood” is compared to

(a) a cottage that is empty (b) a barn that is abandoned

(c) a church that is shut (d) a graveyard that is forsaken

2. Answer the following question in about 15 words: 1×1=1

Whom did Mamzelle Aurlie live with?

3. Answer the following question in about 15 words: 1×1=1

What image did Edwin Muir create to describe the ‘evening sound’ ?

4. Answer the following question in about 25 words: 2×2 =4

 (a) What is the mood of the poem ‘Childhood’ ?

(b) “Wherev’r I trod/ I saw the green and verdant sod/Turn red…”

How did Hawthorne bring out the horror of war in the poem I left my low and humble home ?

5. Answer the following question in about 150 words: 7×1= 7

"He had avenged his crime."

What was the ‘crime’ ? How did he avenge it ?

6. Answer the following question in about 150 words: 7×1=7

“To fight aloud is very brave”

Show how Emily Dickinson compares the inner and outer struggles in the poem.

7. Answer the following question in about 150 words: 5×1= 5

“A terrible scream-a prolonged yell of horror and anguish-burst out of the silence of the moor."

Whose cry was it ? Briefly describe the incident that happened after Holmes and Watson heard the
frightful cry ?

8. Do as directed: 1×3=3

(a) If you do not stop biting nails, you will be in trouble. (Use 'unless')

(b) Come on, I was just pulling your leg. (Identify the idiomatic expression in the sentence and write its
meaning)

(c) Ancient Indians knew the science of ship-building. (End with 'Indians')



9. Report the following conversation in about 50 words:                               3

Peter Stockmann: Was it necessary to make all these investigations behind my back ?

Dr. Stockmann: Yes, because until I was absolutely certain about it-

Peter Stockmann: Then you mean you are absolutely certain now ?

Dr. Stockmann: Surely you are convinced of that.

Peter Stockmann: Is it your intention to bring this document before the Baths Committee as a sort of
official communication ?

Dr. Stockmann: Certainly. Something must be done in the matter-and that quickly.

(An extract from An Enemy of the People by Henrik Ibsen)

10. Write the précis of the following passage:  7
Tom and Becky had tripped along the dark aisles with the rest of the company, visiting the familiar wonders
of the cave. They came to a place where a little stream of water, trickling over the ages, had cut an opening
in the stone. Tom squeezed his small body in and found that the inside held glorious views. Becky responded
to his call, they made a stone-mark for future guidance, and started down exploring and viewing. They
came upon caves infested with bats. In the process of running from them, their candles were put out and
they lost their way. Soon they realized that they had lost their moorings.

11. Write an essay in about 250 words on the following topic: 10

• Pleasure of reading



ENGLISH SECOND LANGUAGE
Class – X

Full Marks : 50

A. Read the following passage and answer the questions that follow:
I was having tea at home on the evening of 30th January, 1948, when I was called to Birla house by an
urgent telephone. Gandhiji had been shot on his way to a prayer meeting. I was numb with shock as I got
into the car.

At the Birla House, Gandhiji’s relatives and followers had gathered round his body. There was silence in
the room as Gandhiji breathed his last. Words of Bapuji’s death had spread through Delhi like a flame
fanned by wind. Sad groups of men and women had collected around Birla House. Out of every window
one could see a brown blur of faces. They did not make a sound. There was an unnatural silence. It was
as if time stood still for those few minutes.

The people were too stunned to speak in the  beginning. Later they clamoured wildly, shouting and crying.
They jostled one another in a stampede to break into the house. They calmed a little when it was announced
that they would be allowed to see Gandhiji before the funeral.

Activity 1

Write the correct alternative to complete the following sentences: 1×5 = 5

a) The narrator was having _______________.

i) rice

ii) bread

iii) tea

iv) fruits

b) The narrator received a telephone call in the _______________.

i) morning

ii) afternoon

iii) night

iv) evening

c) Gandhiji was shot on his way to a  _______________.

i) fair gathering

ii) prayer meeting

iii) political meeting

iv) marketplace

d) The narrator went to Birla House by _______________.

i) car

ii) bus

iii) train

iv) rickshaw



e) Time appeared to have stopped for a few _______________.

i) hours

ii) days

iii) minutes

iv) months

Activity 2

Complete the following sentences with information from the text: 1 × 3= 3

i) At the Birla House, Gandhiji’s __________________________________________________

_________________________________________________________________________.

ii) Words of Bapuji’s death had ___________________________________________________

_________________________________________________________________________.

iii) The people were too stunned to _________________________________________________

_________________________________________________________________________.

Activity 3

 Answer the following questions: 2 × 2 = 4

i) What could one see out of every window?
_________________________________________________________________________
_________________________________________________________________________
_________________________________________________________________________

ii) When did the people become a little calm?
_________________________________________________________________________
_________________________________________________________________________
_________________________________________________________________________

B. Read the text given below and answer the questions that follow:

The mountain and the squirrel
Had a quarrel:

And the former called the later  ‘Little Prig.’
Bun replied,

‘You are doubtless very big;
But all sorts of things and weather

Must be taken in together,

To make up a year



And a sphere.

And I think it no disgrace

To occupy my place.

If I’m not so large as you

You are not so small as I,

And not half so spry.

I’ll not deny you make

A very pretty squirrel track;

Talents differ; all is well and wisely put;

If I cannot carry forests on my back

Neither can you crack a nut.’

Activity 4

Write the correct alternative to complete the following sentences: 1×4 = 4

i) The quarrel was between the mountain and the _____________________

a)  nut

b) track

c) weather

d) squirrel

ii) The “later” is the ______________________

a) squirrel

b)  mountain

c) quarrel

d) year

iii) The squirrel is very ______________

a) spry

b) big

c) lazy

d) tall

iv) The mountain can carry on its back a _________________

a) sphere

b) forest

c) weather

d) year



Activity 5

 Complete the following table: 2×2 = 4

Sl. No. Statement Reason

i The former called the later ‘Little Prig.’

ii Neither can the mountain crack a nut nor can
the squirrel carry a forest.

Activity 6

Split the following into two sentences: 1×4 = 4

a) Having heard the news, she fainted.

b) It was raining heavily, when she reached home.

c) Ashoka, who was a great king, helped in the spread of Buddhism.

d) Shabnam thought that she would win the first prize.

Activity 7

Replace the underlined words with suitable phrasal verbs from the given list. Change the form of
verbs if necessary. Write the answers in the given space. One extra phrasal verb is given in the list:

2×3 = 6

i) My older brother is in search of a job.

ii) I cannot tolerate his audacity.

iii) The Headmistress distributed books among the students.

[List of Phrasal verbs : give away, turn down, look for, put up with]

Activity 8

Write a dialogue within 100 words between  two friends on your feelings about not going to school for
a long time. 10

Activity 9

Suppose you are the Cultural Secretary of the Students’ Club of your school. Write a notice in about
100 words informing the students about an Online Debate Competition for the students of Classes
IX and X of your school. 10
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˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ

1. î£%›%…# vþz_îû•›Å# ²ÌÙÀ SMCQsV 1 × 8 = 8

(i) îyhßþî ¢£† ë%=þ ~„þ‰þœ!î!ŸTþ !m‡y“þ ¢›#„þîû’!Ýþ £öìœy

SaV x(x2 –1) –3x = 0 SbV x2 (x2 –1) – 6x = 0

ScV x (x –1) – x = 0 SdV 2x – 4 = 0

(ii) (2x –2) (x + 3) = 0 ¢›#„þîû’!Ýþîû î#‹ ”%!Ýþ £öìœy

SaV –1, –3 SbV –1, 3

ScV 1, –3 SdV 1, 3

(iii) îy!¡ìÅ„þ 10% ¢îûœ ¢%öì”îû £yöìîû 50 Ýþy„þyîû 2 îŠéöìîûîû ¢%” ú ~„þ£z £yöìîû 100 Ýþy„þyîû 1 îŠéöìîûîû ¢%öì”îû

SaV !m†%’ SbV xöì•Å„þ

ScV ~„þ ‰þ“%þíÅy‚Ÿ SdV ¢›y˜

(iv) O ö„þw#ëû î,öì_îû PQ ç RS ”%!Ýþ ¢›y˜ ÷”öì‡ÅÄîû ‹ÄyÐ O !î %̈ öíöì„þ PQ ‹Äyéôé~îû ”)îûc 8 ö¢!› £öìœ– O !î %̈ öíöì„þ
RS ‹Äyéôé~îû ”)îûc £öìî

SaV 8 ö¢!›. SbV 16 ö¢!›.

ScV 4 ö¢!›. SdV 10 ö¢!›.

SvV  O ˆÑ˛w#Î˚ Ó,ˆÏ_Ó˚ Ó!£Éfl˛i P !Ó®% ˆÌˆÏÑ˛ x!AÑ˛ì˛ fl˛ôü≈Ñ˛ Ó,_ˆÏÑ˛ Q !Ó®%̂ Ïì˛ fl˛ôü≈ Ñ˛ˆÏÓ˚– OQ = 9 ˆ¢!õñ PO = 15
ˆ¢!õ. £ˆÏú PQÈÙÈ~Ó˚ ˜îá≈ƒ £ Ï̂Ó

SaV 6 ˆ¢!õ SbV 22 915 − ˆ¢!õ ScV 22 915 +  ˆ¢!õ SdV 13 ˆ¢!õ

SviV  ”%!Ýþ !˜öìîûÝþ ö†yœöì„þîû î„Êþ“þöìœîû öÇþešþöìœîû x %̃þ™y“þ 25 : 16 £öìœ– “þyöì”îû xyëû“þöì̃ îû x %̃þ™y“þ £öìî

SaV 5 : 4 SbV 64 : 125 ScV 4 : 5 SdV 125 : 64

SviiV   ”%!Ýþ î,_ þ™îûßþ™îûöì„þ C !î %̈öì“þ î!£ƒßþ™ŸÅ „þöìîûÐ AB î,_ ”%!Ýþîû ~„þ!Ýþ ¢y•yîû’ ßþ™ŸÅ„þ î,_”%!Ýþöì„þ A ç B !î %̈öì“þ
ßþ™ŸÅ „þöìîû– ∠ACBéôé~îû þ™!îû›yþ™ £öìœy–

SaV 60º SbV 45º

ScV 30º SdV 90ºÐ

SviiiV  ~„þ!Ýþ !˜öìîûÝþ x•Åöì†yœöì„þîû ¢›@ùÌ“þöìœîû öÇþešþœ 147Π î†Åöì¢!›. £öìœ– vþz£yîû îÄy¢y•Å £öìî–

SaV 6 ö¢!›. SbV 12 ö¢!›.

ScV 7 ö¢!›. SdV 14 ö¢!›.Ð

2. ¢“þÄ/!›íÄy (T/F) öœöì…y  õ 1 × 8 = 8

SiV ~„þ!Ýþ ‡˜öì„þîû ²Ì!“þ!Ýþ •yöìîûîû ÷”‡ÅÄ xöì•Å„þ „þîûy £öìœ– ‡˜„þ!Ýþîû xyëû“þ˜ ²Ìí› ‡˜öì„þîû xyëû“þöì̃ îû 1–8 x‚Ÿ £öìîÐ

SiiV
4
c

3
b

2
a ==  £öìœ– a : b : c = 4 : 3 : 2 £öìîÐ



SiiiV xy¢œ P Ýþy„þy ~î‚ îy!¡ìÅ„þ ‰þ„Êþî,!å• ¢%öì”îû £yîû r% £öìœ– !m“þ#ëû îŠéöìîûîû ›)œ•˜ 
100
Pr  Ýþy„þyÐ

(iv)  !‰þöìe O ö„þw!î!ŸTþ î,öì_ AB ~„þ!Ýþ îÄy¢Ð î,öì_îû ö¦þ“þöìîû
  Q ~„þ!Ýþ !î %̈Ð ∠AQB ¢îÅ”y ¢)̧ öì„þy’ £öìîÐ

SiiV Δ ABCÈÙÈ~Ó˚ BC Óy£%Ó˚ v˛z˛ôÓ˚ D ~õò ~Ñ˛!›˛ !Ó®% ˆÎ AD ⊥ BC ; ¢%ì˛Ó˚yÇ Δ ABD ∼ Δ CAD

SviV Ÿ%öì¦þ %̈ ç ö˜ï¢” ëíy„Êþöì› 1500 Ýþy„þy ~î‚ 1000 Ýþy„þy !”öìëû ~„þ!Ýþ îÄî¢y Ÿ%îû% „þöìîûÐ ~„þ îŠéîû þ™öìîû îÄî¢yëû 75

Ýþy„þy Çþ!“þ £öìœ– Ÿ%öì¦þ %̈îû Çþ!“þ £ëû 30 Ýþy„þyÐ

SviiV                          þ™yöìŸîû !‰þöìe ST | | QR £öìœ– PT
PR

PS
PQ =  £öìîÐ

SviiiV  üAÑ%̨ Ó̊ !ì˛Î≈Ñ˛ v z̨Fâ˛ì˛y üAÑ%̨ Ó̊ v z̨Fâ˛ì˛yÓ̊ !mÜ%í £ Ï̂úñ üAÑ%̨ Ó̊ Óƒy¢yï≈ £ Ï̂Óñ v z̨Fâ˛ì˛y × 3 –

3. ¢‚!Çþ® vþz_îû•›Å# ²ÌÙÀ SS.AV õ 2 × 7 = 14
(i) ~„þ!Ýþ œÁº î,_y„þyîû ö‰þyöì̂ îû xyëû“þ˜ ~î‚ î„Êþ“þöìœîû öÇþešþœ ¢y‚…Ä›yöì̃  ¢›y˜ £öìœ– vþz£yîû îÄy¢y•Å !˜’Åëû „þöìîûyÐ

(ii) ö”…yç öë– !›× !m‡y“þ „þîû’# ( )2–7 éôé~îû x %̃îr•# „þîû’# £öìœy ( )27 + Ð

SiiiV ~„þ!Ýþ œÁº î,_y„þyîû ŸA„%þîû vþzF‰þ“þy 12 ö¢!›. ~î‚ xyëû“þ˜ 100 ∏ ‡˜ ö¢!› £öìœ– ŸA„%þ!Ýþîû îÄy¢yöì•Åîû ÷”‡ÅÄ „þ“þ “þy

!˜’Åëû „þöìîûyÐ

SivV x ∝ yz ~î‚ y ∝ zx £öìœ– ö”…yç öë– z ~„þ!Ýþ xŸ)̃ Ä •Ê%î„þÐ

SvV !“þ˜ îr•% A, B ~î‚ C ~„þ¢öìA† !„þŠ%é ›)œ•˜ !˜öìëû ~„þ!Ýþ îy¢ „Êþëû „þöìîû̃ Ð “þyîûy !àþ„þ „þöìîû̃  öë ö›yÝþ xyöìëûîû 5
2

x‚Ÿ „þyöì‹îû ‹˜Ä 3 : 2 : 2 x %̃þ™yöì“þ ¦þy† „þöìîû ö˜öìî˜Ð ö„þyöì̃ y ~„þ›yöì¢ ë!” 29260 Ýþy„þy xyëû £ëû “þy£öìœ

„þyöì‹îû ‹˜Ä Aéôé~îû xyëû Béôé~îû xyëû öíöì„þ „þ“þ öî!Ÿ £öìîÚ

SviV ~„þ!Ýþ œÁº î,_y„þyîû ö‰þyˆ ~î‚ œÁº î,_y„þyîû ŸA„%þîû ¦)þ!›“þöìœîû îÄy¢yöì•Åîû ÷”öì‡ÅÄîû x %̃þ™y“þ 3:4 ~î‚ “þyöì”îû
xyëû“þöì̃ îû x %̃þ™y“þ 9:8; ö‰þyˆ ç ŸA„%þîû vþzF‰þ“þyîû x %̃þ™y“þ !˜’Åëû „þöìîûyÐ

SviiVë!” 3xy ∝  ~î‚ yéôé~îû î,!å• 8:27 x %̃þ™yöì“þ £öìœ xéôé~îû î,!å• „þ# x %̃þ™yöì“þ £ëû “þy !˜’Åëû „þöìîûyÐ

4. (i) ë%!=þ !”öìëû ²Ì›y’ „þöìîûy öë– î,_Þí ‰þ“%þ¦Å%þöì‹îû !îþ™îû#“þ ö„þy’†%!œ þ™îûßþ™îû ¢Á™)îû„þÐ 5 × 2 = 10

(ii) ë%!=þ !”öìëû ²Ì›y’ „þöìîûy öë– î,öì_îû î!£ƒÞí ö„þyöì̃ y !î %̈ öíöì„þ öë ”%!Ýþ ßþ™ŸÅ„þ xA„þ˜ „þîûy ëyëû “þyöì”îû ßþ™ŸÅ!î %̈ ”%!Ýþîû

¢öìA† î!£ƒÞí !î %̈îû ¢‚öìëy‹„þ ¢îûœöìîû…y‚Ÿ ”%!Ýþîû ÷”‡ÅÄ ¢›y˜ ~î‚ “þyîûy ö„þöìw ¢›y˜ ö„þy’ vþzêþ™§¬ „þöìîûÐ

5. (i) îy!¡ìÅ„þ 4% ¢îûœ¢%öì” „þ“þ îŠéöìîû 600 Ýþy„þyîû ¢%” 168 Ýþy„þy £öìî “þy !˜’Åëû „þöìîûyÐ 5 × 2 = 10

(ii) „þ“þ Ýþy„þy îy!¡ìÅ„þ 5% ‰þ„Êþî,!å•£yîû ¢%öì” 2 îŠéîû þ™öìîû ¢%öì” xy¢öìœ 3528 Ýþy„þy £öìîÐ

P
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1. !àþ„þ vþz_îû !˜îÅy‰þ˜ „þöìîûy õ 1×8=8

1.1 öë!Ýþ ‹#îyÙÂ ‹µyœy!˜ ˜ëû ö¢!Ýþ £öìœyéôôôé

S„þV îyöìëûy†Äy¢ S…V öþ™öìÝþÆyœ

S†V !vþöì‹œ S‡V „þëûœy

1.2 ö„þyöì̃ y vþz_œ öœöìªîû öšþy„þyöì¢îû ›öì•Ä îhß$þöì„þ îûy…öìœ †!àþ“þ ²Ì!“þ!îÁº £öìîéôôôé

S„þV ¢”ä ç xîŸ#¡ìÅ S…V x¢”ä ç xîŸ#¡ìÅ

S†V ¢”ä ç ¢›Ÿ#¡ìÅ S‡V x¢”ä ç ¢›Ÿ#¡ìÅ

1.3 öë öëï†!Ýþ xyëû̃ #ëû ˜ëû “þy £öìœyéôôôé

S„þV KH S…V NaCl

S†V CaCl2 S‡V CH4

1.4 öë!Ýþ ›,”% “þ!vþüê!îöìÙÕ¡ìÄ ö¢!Ýþ £öìœyéôôôé

S„þV ö¢y!vþëûy› ö„Ïþyîûy£zvþ S…V xÄyöì›y!˜ëûy› ¢yœöìšþÝþ

S†V ¢yœ!šþvþz!îû„þ xÄy!¢vþ S‡V xÄyöì¢!Ýþ„þ xÄy!¢vþ

1.5 öë †Äyöì¢îû îyÜ™ ‡˜c x!:öì‹˜ ¢yöìþ™öìÇþ 2 “þyîû @ùÌy› xy’!î„þ †%îû%c £öìœyéôôôé

S„þV 4 g/mol S…V 16 g/mol

S†V 32 g/mol S‡V 64 g/mol

1.6 †!œ“þ ö¢y!vþëûy› ö„Ïþyîûy£zöìvþîû “þ!vþüê!îöìÙÕ¡ì’ „þîûyîû ¢›ëû

S„þV „þÄyöìíyvþ •˜yd„þ ç ~…yöì̃  !î‹yîû’ ‡öìÝþ S…V „þÄyöìíyvþ }’yd„þ ç ~…yöì̃  !î‹yîû’ ‡öìÝþ

S†V xÄyöì̃ yvþ •˜yd„þ ç ~…yöì̃  !î‹yîû’ ‡öìÝþ S‡V xÄyöì̃ yvþ }’yd„þ ç ~…yöì̃  !î‹yîû’ ‡öìÝþ

1.7 3 ç£› ~î‚ 6 ç£› öîûyöì•îû ¢›yhsþîûyœ ¢›îyöìëûîû “%þœÄ öîûyöì•îû ›y˜ £öìœyéôôôé

S„þV 9 ç£› S…V 4 ç£›

S†V 2 ç£› S‡V 1 ç£›

1.8 öë!Ýþ !@ùÌ˜£yvþz¢ †Äy¢ ö¢!Ýþ £öìœyéôôôé

S„þV ˜y£zöìÝþÆyöì‹˜ S…V x!:öì‹˜

S†V ˜y£zÝþÆy¢ x:y£zvþ S‡V £y£zöìvÈþyöì‹˜

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1×3=3

2.1 £Äyöìœyöì‹˜ ö›ïœ†%!œîû ›öì•Ä öë!Ýþîû “þ!vþüê}’yd„þ“þy ¢îÅy!•„þ ö¢!Ýþ £öìœy__________Ð

2.2 îyëû%›[þöìœîû öë hßþîû!Ýþ öîû!vþç“þîûA† ²Ì!“þšþ!œ“þ „þöìîû ö¢!Ýþ £öìœy__________Ð

2.3 !šþvþz‹ “þyöìîûîû †œ˜yA„þ ~îû vþzþ™y”y˜†%!œîû †œ˜yA„þ xöìþ™Çþy __________ £ëûÐ



3. ˜#öì‰þîû îy„þÄ†%!œ ¢“þÄ xíîy !›íÄy “þy !˜îû)þ™’ „þöìîûy õ 1×3=3

3.1 “þ!vþüê!îöìÙÕ¡ìöì’îû ¢›ëû oîöì’îû ›öì•Ä !”öìëû “þ!vþüê þ™!îûî£’ „þöìîû £zöìœ„þÝþÆ̃ Ð

3.2 vþzF‰þ vþz¡Ö“þy ç !˜Á¬ ‰þyöìþ™ îyhßþî †Äy¢†%!œ ²Ìyëû xy”ŸÅ †Äyöì¢îû ›öì“þy xy‰þîû’ „þöìîûÐ

3.3 ”%!Ýþ ›y•Äöì›îû xyöìþ™!Çþ„þ ²Ì!“þ¢îûyA„þ xyöìœyîû îöì’Åîû vþzþ™îû !˜¦Åþîû „þöìîûÐ

4. ~„þ!Ýþ Ÿöì· xíîy ~„þ!Ýþ îyöì„þÄ vþz_îû ”yç õ 1×6=6

4.1 †Äy¢ •Ê%îöì„þîû (R) SI ~„þ„þ!Ýþ vþzöìÍÔ… „þöìîûyÐ

4.2 þ™ëÅyëû ¢yîû!’öì“þ ²Ìöì“þÄ„þ þ™ëÅyöìëûîû ö„þy˜ ö›ïœ!Ýþîû þ™yîû›y’!î„þ îÄy¢yöì•Åîû ›y˜ ¢îÅy!•„þ £ëûÚ

4.3 ~›˜ ~„þ!Ýþ xyëû̃ #ëû öëïöì†îû ¢‚öì„þ“þ öœöì…y ëyîû „þÄyÝþyëû̃  ç xÄy˜yëû̃  ”%!Ýþîû£z £zöìœ„þÝþÆ̃  !î˜Äy¢ !£!œëûy›
þ™îû›y’%îû ›öì“þyÐ

4.4 !„þöìœyçëûyÝþ SkWV ç !„þöìœyçëûyÝþéôé‡^ùÝþyîû SkWhV ›öì•Ä ö„þy˜!Ýþ Çþ›“þyîû ~„þ„þÚ

4.5 DC xöìþ™Çþy ACéôéîû ~„þ!Ýþ îÄî£y!îû„þ ¢%!î•y öœöì…yÐ

4.6 ö„þyöì̃ y îhß$þöì“þ ö¢y˜yîû ²Ìöìœþ™ !”öì“þ „þ# “þ!vþüê!îöìÙÕ¡ìÄ îÄî£,“þ £ëûÚ

5. ¢‚!Çþ® vþz_îû ”yç õ 2×9=18

5.1 !þ™Šéöì̃ îû †y!vþü ö”…öì“þ ßþ%ñÝþyîû xíîy îyöì¢ öë xyëû̃ y íyöì„þ “þy ¢›“þœ ˜y „þöìîû vþz_œ îûy…y £ëû ö„þ˜Ú

5.2 ö„þyöì̃ y ö›ïöìœîû xyëû̃ #¦þî˜ Ÿ!=þ îœöì“þ „þ# öîyGþyëûÚ

5.3 „þÄyœ!Ÿëûy› „þyîÅöì̃ öìÝþîû ›öì•Ä ¦þîû !£¢yöìî „þÄyœ!Ÿëûyöì›îû Ÿ“þ„þîûy þ™!îû›y’ !˜’Åëû „þöìîûy SCa = 40VÐ

5.4 ö¢y!vþëûy› ö„Ïþyîûy£zöìvþîû öÇþöìe òxy’!î„þ ç‹˜ó „þíy!Ýþ ö„þ˜ ²Ìöìëy‹Ä ˜ëû “þy îÄy…Äy „þöìîûyÐ

5.5 50 g „þÄyœ!Ÿëûy› „þyîÅöì˜öìÝþîû þ™)’Å !îöìëûy‹öì˜ „þ“þ @ùÌy› „þyîÅ˜ vþy£zx:y£zvþ †Äy¢ þ™yçëûy ëyöìî !˜’Åëû „þöìîûy
SCa = 40, C = 12, O = 16VÐ

5.6 Ÿ%Üñ îyëû% xöìþ™Çþy xyoÅ îyëû% £yÍñy ö„þ˜ “þy îÄy…Äy „þöìîûyÐ

5.7 ¢)ëÅyöìhßþîû ¢›ëû ¢)ëÅöì„þ œyœ ö”…yëû ö„þ˜Ú

5.8 öšÏþ!›‚öìëûîû îy› £hßþ !˜ëû›!Ýþ öœöì…yÐ

5.9 öœöìOîû ¢)e!Ýþ öœöì…yÐ

6. ˜#öì‰þîû ²ÌÙÀ!Ýþîû vþz_îû ”yç õ 3×4=12

6.1 760 mm Hg ‰þyöìþ™ ç 273 K vþz¡Ö“þyëû ö„þyöì˜y ~„þ!Ýþ †Äyöì¢îû 1.6 g éôé~îû xyëû“þ˜ 1.12 L Ð †Äy¢!Ýþîû ö›yœyîû ¦þîû
ç £y£zöìvÈþyöì‹˜ ¢yöìþ™öìÇþ îyÜ™ ‡˜c !˜’Åëû „þöìîûyÐ

6.2 ~„þ!Ýþ “þ!vþüêöì„þyöìŸîû “þ!vþüF‰þyœ„þ îœ 10 V ç x¦þÄhsþîû#’ öîûy• 2 ç£›Ð “þ!vþüêöì„þyŸ!Ýþöì„þ 8 ç£› öîûy•öì„þîû ¢öìA†
ë%=þ „þîûy £œÐ öîûy•„þ!Ýþöì“þ 60 ö¢öì„þöìuþ „þ“þ ‹%œ “þyþ™ vþzêþ™§¬ £öìî “þy !˜’Åëû „þöìîûyÐ

6.3 ”%!Ýþ •y“þî “þyöìîûîû ÷”öì‡ÅÄîû x %̃þ™y“þ 2:1– îÄy¢yöì•Åîû x˜%þ™y“þ 1:2 ~î‚ öîûy•yöìA„þîû x˜%þ™y“þ 3:4 £öìœ “þyîû ”%!Ýþîû
öîûyöì•îû x˜%þ™y“þ „þ“þ £öìî “þy !˜’Åëû „þöìîûyÐ

6.4 !‰þ!£«“þ öîû…y!‰þöìeîû ¢y£yöìëÄ „þ#¦þyöìî vþz_œ öœöìªîû ›y•Äöì› ö„þyöì̃ y îhß$þîû xîŸ#¡ìÅ– …îÅy„þyîû– ¢”!îÁº †!àþ“þ £ëû “þy
ö”…yçÐ



‹#î˜!îKþy˜
”Ÿ› ö×!’

þ™)’Å›y˜ éôé 50

1. ²Ì!“þ!Ýþ ²ÌöìÙÀîû ¢!àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîû “þyîû „Êþ!›„þ ¢‚…Äy¢£ îy„þÄ!Ýþ ¢Á™)’Å „þöìîû öœöì…y õ 1 × 9 = 9

1.1 vþz!qöì”îû þ™îÅ›öì•Äîû ÷”‡ÅÄ î,!å• ‡Ýþyëû öë £îûöì›y˜ ö¢!Ýþ !˜îÅy‰þ˜ „þöìîûy éôôôé

S„þV x!:˜

S…V !‹öìî¹öìîû!œ˜

S†V ¢y£zöìÝþy„þy£z!˜˜

 S‡V NAA

1.2 ˜#öì‰þîû î=þîÄ†%!œ öíöì„þ ›yöìëûy!þ™ëûyîû ¢öìA† ¢Á™!„Åþ“þ ¢›¢Äy!Ýþ !‰þ!£«“þ „þöìîûy éôôôé

S„þV ö‰þyöì…îû öœöìªîû !Þí!“þÞíyþ™„þ“þy ˜Tþ £öìëû ëyçëûy

S…V îhß$þîû ²Ì!“þ!îÁº öîû!Ýþ˜yîû ¢y›öì̃  †!àþ“þ £çëûy

S†V ö‰þyöì…îû öœöìªîû ßþºFŠé“þy ˜Tþ £öìëû ëyçëûy

S‡V îhß$þîû ²Ì!“þ!îÁº öîû!Ýþ˜yîû öþ™Šéöì̃  †!àþ“þ £çëûy

1.3 ˜#öì‰þîû öë ö‹yvþü!Ýþ ¢!àþ„þ “þy !Þíîû „þöìîûy éôôôé

S„þV STH éôôôé íy£zîûöìëûvþ @ùÌ!ríîû î,!å• !˜ëûsþf’ „þîûy

S…V ACTH éôôôé ßþf#öì”öì£ !vþÁºyŸöìëû @ùÌy!šþëûy˜ šþ!œ„þöìœîû î,!å•öì“þ ¢y£yëÄ „þîûy

S†V FSH éôôôé îûöì=þ Ÿ„Åþîûyîû ›yey !˜ëûsþf’ „þîûy

S‡V ADH éôôôé î,Eþ#ëû ˜y!œ„þyëû ‹öìœîû þ™%̃ ƒöìŸy¡ì’ ‡Ýþyöì̃ y

1.4 ›y˜îöì”öì£ „þöìîûy!Ýþ ßþ¬yëû%îû ¢‚…Äy !˜îû)þ™’ „þöìîûy éôôôé

S„þV 10 ö‹yvþüy

S…V 12 ö‹yvþüy

S†V 21 ö‹yvþüy

S‡V 31 ö‹yvþüy

1.5 þ™y“þyîû ›y•Äöì› ²Ìy„,þ!“þ„þ xA†‹ î‚Ÿ!îhßþyîû „þöìîû öë vþz!q” ö¢!Ýþ !˜îÅy‰þ˜ „þöìîûyôôôé

S„þV !›!Tþ xyœ%

S…V „þ‰%þ!îûþ™y˜y

S†V xy”y

S‡V þ™yíîû„%þ!‰þ

1.6 ¢‚„þîûyëû’ þ™îû#Çþyîû ‹˜Ä ö›öìuþöìœîû ›Ýþîû†yŠé öîöìŠé ö˜çëûyîû ¢!àþ„þ „þyîû’!Ýþ !Þíîû „þöìîûy éôôôé

S„þV ›Ýþîû †yöìŠéîû î‚Ÿ!îhßþyöìîû xöì̃ „þ ¢›ëû œyöì†

S…V ›Ýþîû †yöìŠé !îþ™îû#“þ•›Å# ÷î!ŸöìTþÄîû vþzþ™!Þí!“þ …%î£z „þ›

S†V ›Ýþîû š%þœ ßþºþ™îûy†# £çëûyîû îy£zöìîû öíöì„þ x˜Ä ‰þy!îû!e„þ ÷î!ŸTþÄ !›öìŸ ëyçëûyîû ¢½þyî˜y „þ›

S‡V ›Ýþîû †yöìŠéîû š%þœ†%!œöì“þ „,þ!e›¦þyöìî £z“þîû þ™îûy†öìëy† ‡Ýþyöì̃ y ¢½þî ˜ëû



1.7 ˜#öì‰þîû öë ö‹yvþü!Ýþ ¢!àþ„þ ˜ëû “þy !˜îÅy‰þ˜ „þöìîûyéôôôé
S„þV {ÞÝþ éôôôé ö„þyîûöì„þyå†›
S…V ›¢ éôôôé öîû’% vþzêþ™y”˜
S†V ²Õy¢öì›y!vþëûy› éôôôé þ™%̃ îû%êþ™y”˜
S‡V xÄy!›îy éôôôé !m!î¦þy‹˜

1.8 ˜#öì‰þîû öë ”%!Ýþ !‹öì̃ yÝþy£zþ™ !†!˜!þ™öì†îû „þyöìœy ç ›¢,’ !šþöì̃ yÝþy£zöìþ™îû ‹˜Ä ”yëû# “þy !‰þ!£«“þ „þöìîûy éôôôé
S„þV BBRR ç BbRr
S…V BBrr ç Bbrr
S†V BBRr ç BbRR
S‡V bbRr ç bbrr

1.9 ßþºy¦þy!î„þ !þ™“þy ~î‚ î’Åyr•“þyîû îy£„þ ›y“þyîû î’Åyr• „þ˜Äy¢hsþy˜ ‹§Ãyöì̃ yîû ¢½þyî˜y !˜îû)þ™’ „þöìîûyéôôôé
S„þV 0%
S…V 25%
S†V 50%
S‡V 100%

2. ˜#öì‰þîû îy„þÄ†%öìœyîû Ÿ)̃ ÄÞíy˜†%öìœyöì“þ vþzþ™ë%=þ Ÿ· î¢yç õ 1 × 3 = 3
2.1 vþyöìîîû ‹öìœ é

ôôôééôôôééôôôééôôôééôôôééôôôééôôôé
 £îûöì›y˜ íyöì„þÐ

2.2 þ™yëûîûyîû ~„þ!Ýþ vþy˜yëû é
ôôôééôôôééôôôééôôôééôôôééôôôééôôôé 

!Ýþ öîû!›öì‹¢ ˜y›„þ þ™yœ„þ íyöì„þÐ
2.3 RNAéôéö“þ íy£z!›öì̃ îû þ™!îûîöì“Åþ é

ôôôééôôôééôôôééôôôééôôôééôôôééôôôé 
íyöì„þÐ

3. ˜#öì‰þîû îy„þÄ†%öìœy ¢“þÄ xíîy !›íÄy !˜îû)þ™’ „þöìîûy õ 1 × 3 = 3
3.1 x Ï̂ÎÔò ãò Ï̂ò î%!›˛ ã!òì,̨  ã# Ï̂ÓÓ̊ ≤Ã Ï̂Î̊yãò £Î̊–

3.2 ¢˛ô%‹ôÑ˛ v z̨!q Ï̂î !ò Ï̂°Ï̂ ÏÑ˛Ó̊ ˛ôÓ̊ !v˛¡∫Ñ˛!›˛ ö˛ Ï̂ú ˛ô!Ó̊íì˛ £Î̊–

3.3 ˆÑ˛y Ï̂òy ã# Ï̂ÓÓ̊ â˛y!Ó̊!eÑ˛ ˜Ó!ü Ï̂T˛ƒÓ̊ Óy!£ƒÑ˛ ≤ÃÑ˛yü Ï̂Ñ˛ !ö˛ Ï̂òy›˛y£z̨ ô Ó Ï̂ú–

4. AÈÙÈhfl˛ Ï̂Ω˛ ˆîÁÎ̊y ü Ï̂∑Ó̊ ¢ Ï̂AÜ BÈÙÈhfl˛ Ï̂Ω˛ ˆîÁÎ̊y ¢Ó≈y Į̈̂ ô«˛y v z̨̨ ôÎ%=˛ ü∑!›˛Ó̊ ¢õì˛y !Óïyò Ñ˛ Ï̂Ó̊ v z̨¶˛Î̊ hfl˛ Ï̂Ω˛Ó̊ Ñ ̨ !õÑ˛ òÇ

v ẑ̨ ÏÕ‘Ö¢£ ¢!‡˛Ñ˛ ˆãyv˛̧!›˛ ˛ô%òÓ̊yÎ̊ ˆú Ï̂Öy ı 1 × 3 = 3

A ÈÙ hfl˛Ω˛ B ÈÙÈ hfl˛Ω˛

4.1 xrï!Ó®% SaV õy£zˆÏ›˛y!¢¢

4.2 Ñ ̨ !¢Ç Á¶˛yÓ̊ SbV fi›˛Ñ˛ ~ÓÇ !¢Î̊ò

4.3 @˘Ãyö˛!›˛Ç ScV ˆÓ̊!›˛òy Á x˛ô!›˛Ñ˛ fl˛̈yÎ̊%Ó̊ ¢Ç Ï̂ÎyÜfiÌú

SdV !õˆÏÎ˚y!¢¢

5. ~„þ!Ýþ Ÿöì· îy ~„þ!Ýþ îyöì„þÄ vþz_îû ”yç õ 1 × 3 = 3
5.1 ›y˜î !î„þyöìŸîû îëûƒ¢!r• ”Ÿyîû ~„þ!Ýþ †%îû%cþ™)’Å ÷î!ŸTþÄ vþzöìÍÔ… „þöìîûyÐ

5.2 !î¢”,Ÿ!Ýþ öîöìŠé öœöì…y õ ›Ýþöìîûîû ¢î%‹ îûöì̂ îû î#‹– ›Ýþöìîûîû ¢î%‹ îûöì̂ îû šþœ– !†!˜!þ™öì†îû ¢y”y îûöì̂ îû öœy›–
!†!˜!þ™öì†îû ›¢,’ öœy›

5.3 ˜#öì‰þ ¢Á™„Åþë%=þ ~„þ!Ýþ Ÿ· ö‹yvþü ö”çëûy xyöìŠéÐ ²Ìí› ö‹yvþü!Ýþîû ¢Á™„Åþ î%öìGþ !m“þ#ëû ö‹yvþü!Ýþîû Ÿ)̃ ÄÞíyöì̃  vþzþ™ë%=þ
Ÿ· î¢yç õ

›y£zöìÝþy!¢¢ õ ¼)’›)œ õõ é
ôôôééôôôééôôôééôôôééôôôééôôôééôôôé

 õ öîû’% ›y“,þöì„þyŸ



6. ”%£zéôé!“þ˜ îyöì„þÄ vþz_îû ”yç õ 2 × 7 = 14

6.1 !˜Á¬!œ!…“þ ÷î!ŸöìTþÄîû çþ™îû !¦þ!_ „þöìîû xhsþƒÇþîûy ç î!£ƒÇþîûy @ùÌ!ríîû þ™yíÅ„þÄ !˜îû)þ™’ „þöìîûy éôôôé

 ˜y!œîû vþzþ™!Þí!“þ ç x %̃þ™!Þí!“þ

 Çþ!îû“þ þ™”yíÅ

6.2 ›y£zöìÝþy!¢öì¢îû ¢îöì‰þöìëû ”#‡ÅÞíyëû# ”Ÿyëû !˜vþz!„Ïþëûyöì¢îû „þ# „þ# þ™!îûî“Åþ˜ ‡öìÝþ “þy î’Å̃ y „þöìîûyÐ

6.3 › Δ̨!˛ôÑ˛ â˛úò Á òƒy!fi›˛Ñ˛ â˛úòÈÙÈ~Ó̊ î%!›˛ ˛ôyÌ≈Ñ˛ƒ v ẑ̨ ÏÕ‘Ö Ñ˛ Ï̂Ó̊y–

6.4 ßþºþ™îûy†öìëyöì†îû ~„þ!Ýþ ¢%!î•y ç ~„þ!Ýþ x¢%!î•y vþzöìÍÔ… „þöìîûyÐ

6.5 òò~„þ¢‚„þîû ‹˜öì̃  F2 ‹ %̃îû !šþöì̃ yÝþy£z!þ™„þ x %̃þ™y“þ ¢î¢›ëû 3:1 ˜yç £öì“þ þ™yöìîûóó éôôôé vþz”y£îûöì’îû ¢y£yöìëÄ îÄy…Äy
„þöìîûyÐ

6.6 !ò¡̈!ú!Öì˛ ˜Ó!ü Ï̂T˛ƒÓ̊ !¶˛!_ Ï̂ì˛ x Ï̂ÎÔò Á ˆÎÔò ãò Ï̂òÓ̊ ˛ôyÌ≈Ñ˛ƒ !òÓ̊)̨ ôí Ñ˛ Ï̂Ó̊y ÈÙÙÙÈ

 Üƒy Ï̂õ›˛ v z̨Í˛ôyîò

 õy£ẑ Ï›˛y!¢¢ Óy !õ Ï̂Î̊y!¢ Ï̂¢Ó̊ Á˛ôÓ̊  !ò¶≈̨ Ó̊ì˛y

6.7 õy£ẑ ÏÑ ̨ y Ï̂≤Ãy˛ôy Ï̂Üüò ˛ôÂï!ì˛ Ï̂ì˛ Ñ˛#¶˛y Ï̂Ó ≤’yr›˛ Ï̂ú›˛ ¢,!T˛ Ñ˛Ó̊y £Î̊ ì˛y ~Ñ˛!›˛ ˆÓ̊Öy!â˛ Ï̂eÓ̊ ¢y£y Ï̂Îƒ ˆîÖyÁ–

7. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ 5 × 3 = 15

7.1 ²Ìy’#öì„þyöìŸîû ›y£zöìÝþy!¢¢ ö„þyŸ !î¦þy‹öì˜îû ö›Ýþyöìšþ‹ ”Ÿyîû þ™!îûFŠé§¬ !‰þe xA„þ˜ „þöìîû !˜Á¬!œ!…“þ x‚Ÿ†%öìœy
!‰þ!£«“þ „þöìîûy õ 3 + 2 = 5

S„þV ö„Êþy›y!Ýþvþ  S…V  ö›îû% xMþœ  S†V  ö¢öìrÝþÆy!›ëûyîû  S‡V  öî›“þhs$þ

Sö„þîœ ”,!Tþ£#˜ þ™îû#ÇþyíÅ#öì”îû ‹˜ÄV

²Ìy’#öì„þyöìŸîûì ›y£zöìÝþy!¢¢ ö„þyŸ !î¦þy‹öì̃ îû ö›Ýþyöìšþ‹ ”Ÿyîû !“þ˜!Ýþ ~î‚ öÝþöìœyöìšþ‹ ”Ÿyîû ”%!Ýþ ÷î!ŸTþÄ öœöì…yÐ

3 + 2 = 5
7.2 ~„þ!Ýþ ö„þyŸ‰þöì„Êþîû !î!¦þ§¬ !î %̈öì“þ ßþºy¦þy!î„þ !˜ëûsþf’ ˜Tþ £öìœ „þ# ‡Ýþöì“þ þ™yöìîûÚ ‹#öìîîû î,!å•– ²Ì‹˜˜ ç Çþëûþ™)îû’

„þ#¦þyöìî ö„þyŸ !î¦þy‹˜ myîûy !˜ëû!sþf“þ £ëû “þy !îöìÙÕ¡ì’ „þöìîûyÐ 2 + 3  = 5

7.3 ~„þ!Ýþ !îŸ%å• £œ%” ç ö†yœ î#‹ë%=þ ›Ýþîû †yöìŠéîû SYYRRV ¢öìA† ~„þ!Ýþ !îŸ%å• ¢î%‹ ç „%þ!Mþ“þ î#‹ë%=þ ›Ýþîû
†yöìŠéîû SyyrrV ¢‚„þîûyëûöì’îû šþœyšþœ F2 ‹ %̃ þ™ëÅhsþ ö‰þ„þyîû öîyöìvÅþîû ¢y£yöìëÄ ö”…yçÐ ~£z ¢‚„þîûyëû’ öíöì„þ î‚Ÿ†!“þîû
öë ¢)e!Ýþ þ™yçëûy ëyëû “þy !îî,“þ „þöìîûyÐ 3 + 2 = 5



£z!“þ£y¢
”Ÿ› ö×!’
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1. ò„þó hßþöì½þîû ¢yöìí ò…ó hßþ½þ ö›œyç õ 1 × 4 = 4

„þéôéhßþ½þ …éôéhßþ½þ

1.1 ¦þy£z¢îûëû S„þV îûy•y„þyhsþ ö”î
1.2 ÷‰þe ö›œy S…V “þyîû„þ˜yí þ™y!œ“þ

1.3 ‹!›”yîû ¢¦þy S†V œvÅþ „þÄy!˜‚

1.4 öîA†œ öÝþ„þ!˜„þÄyœ £zª!Ýþ!ÝþvþzÝþ S‡V ˜îöì†yþ™yœ !›e

2. ¢“þÄ îy !›íÄy !˜’Åëû „þöìîûy õ 1 × 4 = 4

2.1 1857 !…ÊÞÝþyöì·îû !îöìoyöì£îû x!¦þ‡yöì“þ ¦þyîûöì“þ !îÊ!ÝþŸ Ÿy¢öì̃ îû ¢›y!® ‡öìÝþ!ŠéœÐ

2.2 ¦þyîû“þ¢¦þy †öìvþü vþzöìàþ!Šéœ ö”öìŸîû ‹˜†’öì„þ î,£_îû îûy‹÷˜!“þ„þ „þ›Å„þyöì[þ ~„þöì‹yÝþ „þîûyîû ‹˜ÄÐ

2.3 1857ÈÙÈÓ˚ !Ó Ï̂oy£ Ï̂Ñ˛ ãyì˛#Î˚ì˛yÓyî#Ó˚y Ú¶˛yÓ˚̂ Ïì˛Ó˚ fl ∫̨yï#òì˛y Î%ÂïÛ Ó Ï̂ú ÓƒyÖƒy Ñ˛ Ï̂Ó˚ò–

2.4 òî“Åþ›y˜ ¦þyîû“þó @ùÌöìrí ßþºy›# !îöìî„þy˜¨ Ÿ)o ‹y†îûöì’îû „þíy îöìœöìŠé˜Ð

3. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 4 = 4

3.1 ¦þyîûöì“þ Šéyþ™y ²Ìí› îy‚œy î£z £œ Ð

3.2 öšþyÝÅþ vþz£z!œëû› „þöìœ‹ ×#îûy›þ™%îû îÄyþ™!ÝþÞÝþ !›Ÿ˜ ²Ì!“þ!Ûþ“þ £ëû  !…ÊTþyöì·Ð

3.3 èþ™!˜öìî!Ÿ„þ ¦þyîûöì“þ  ²Ìí› ¦þy£z¢îûëû !˜ë%=þ £˜Ð

3.4 òxy˜¨›àþó vþzþ™˜Äy¢!Ýþ  xyöì̈ yœöì̃ îû þ™Ýþ¦)þ!›öì“þ îû!‰þ“þ £ëûÐ

4. ”%!Ýþ îy !“þ˜!Ýþ îyöì„þÄ ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 2 × 5 = 10

4.1 £zrÝþyîûöì̃ Ýþ îÄî£yöìîûîû ”%!Ýþ ¢%!î•y öœ…Ð

4.2 övþ!¦þvþ ö£ëûyîû ö„þ˜ ßþ¿îû’#ëûÚ

4.3 òîyîûy¢y“þ !îöìoy£ó „þ#Ú

4.4 ÚˆÜyÓ˚yÛ v z̨̨ ôòƒyˆÏ¢Ó˚ õïƒ !îˆÏÎ˚ ˆÑ˛yò mˆÏ®μÓ˚ ≤Ã!ì˛ö˛úò ú«˛ƒ Ñ˛Ó˚y ÎyÎ˚⁄

4.5 ÜÜˆÏòwòyÌ ‡˛yÑ%̨ Ó˚ fl˛øÓ˚í#Î˚ ˆÑ˛ò⁄

5. ¢y“þ îy xyÝþ!Ýþ îyöì„þÄ vþz_îû ”yç õ 4 × 5 = 20

5.1 ›öì£wœyœ ¢îû„þyîû ö„þ˜ ßþ¿îû̃ #ëûÚ

5.2 !ŸÇþy !îhßþyöìîû ×#îûy›þ™%îû îÄyþ™!ÝþÞÝþ !›Ÿöì̃ îû ¦)þ!›„þyîû vþzöìÍÔ… „þîûÐ

5.3 îûî#w˜yí àþy„%þöìîûîû !ŸÇþy!‰þhsþyëû ö„þy˜ !”„þ!Ýþ Ÿy!hsþ!˜öì„þ“þ˜ ²Ì!“þÛþyëû ¢îöì‰þöìëû öî!Ÿ š%þöìÝþ vþzöìàþ!ŠéœÚ

5.4 ò¦þyîû“þ›y“þyó !‰þe!Ýþ „þ#¦þyöìî ¦þyîûöì“þîû ‹y“þ#ëû“þyîy”# xyöì̈ yœöì̃ îû ²Ì“þ#öì„þ þ™!îû’“þ £öìëû!ŠéœÚ

5.5 òîy‚œyîû ˜î‹y†îû’ !Šéœ „þœ„þy“þyöì„þ!w„þóÐ éôôôé !îöìÙÕ¡ì’ „þöìîûyÐ

6. þ™öì̃ öìîûyéôéö¡ìyöìœy!Ýþ îyöì„þÄ vþz_îû ”yç õ 8 × 1 = 8

²Ìy‰þÄéôéþ™yØþy“þÄ !ŸÇþy !î¡ìëû„þ m µ̈ ¢Á™öì„Åþ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þöìîûyÐ
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1. !î„þÒ†%!œ öíöì„þ !àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîû öœöì…y õ 1×9=9

1.1 xîöìîûy£’ ²Ì!e«ëûyëû ¢,Tþ ~„þ!Ýþ ¦)þ!›îû)þ™ £öìœy éôôôé

„þV ²Õyî˜¦)þ!›

…V ~ßþñyîû

†V !†!îû…y“þ

‡V ßþºy¦þy!î„þ î¤y•

1.2 !£›îy£ ç þ™îÅ“þ†yöìeîû ›öì•Ä ¢,Tþ ¢A„þ#’Å š¤þy„þ £öìœy éôôôé

„þV !šþëûvÅþ

…V îy†ÅßþË%uþ

†V „þ!îû

‡V ~!îû!Ýþ

1.3 !àþ„þ ö‹yvþüy!Ýþ !˜îÅy‰þ˜ „þöìîûy éôôôéé

„þV œy”y… éôé xA†îûy‹Ä

…V þ™%”%öì‰þîû# éôé ö„þwŸy!¢“þ xMþœ

†V xy¨y›y˜ ç !˜öì„þyîîû m#þ™þ™%O éôé xA†îûy‹Ä

‡V £!îûëûy˜y éôé ö„þwŸy!¢“þ xMþœ

1.4 !àþ„þ ö‹yvþüy!Ýþ !˜îÅy‰þ˜ „þöìîûy éôôôé

„þV Ÿ,C!œ“þ ÷Ÿœ!Ÿîûy éôôôé ˜”#îû ¢Mþëû„þy‹

…V ~!îû!Ýþû éôôôé !£›îyöì£îû ¢Mþëû„þy‹

†V xþ™¢yîû’ †“Åþ éôôôé îyëû%îû ¢Mþëû„þy‹

‡V îy!œëûy!vþü éôôôé îyëû%îû ¢Mþëû„þy‹

1.5 „Êþyhsþ#ëû !‰þîû£!îûê xîûöì’Äîû vþz!qöì”îû x˜Ä“þ› ~„þ!Ýþ ÷î!ŸTþÄ £öìœy éôôôé

„þV !˜!”ÅTþ }“%þöì“þ ~öì”îû þ™y“þy Gþöìîû ëyëû

…V þ™y“þyëû ö›yöì›îû ²Ìöìœþ™ íyöì„þ

†V vþz!qöì”îû vþyœþ™yœy ~„þ¢yöìí ë%=þ £öìëû ‰¤þyöì”yëûy ¢,!Tþ „þöìîû

‡V ~öì”îû Ù»y¢›)œ íyöì„þ



1.6 x!“þ!îîûœ ‹˜‡˜cë%=þ ~„þ!Ýþ îûy‹Ä £öìœy éôôôé

„þV þ™!Øþ›îA†

…V ö†yëûy

†V vþz_îû²Ìöì”Ÿ

‡V !¢!„þ›

1.7 xyöìîûy£’ þ²Ì!„Êþëûyëû ¢,Tþ ~„þ!Ýþ ¦)þ!›îû)þ™ £öìœyéôôôé

„þV !†!îû…y“þ

…V îûöì¢ ›“þyöì̃

†V îy!œëûy!vþü

‡V ö†ïîû

1.8 !àþ„þ ö‹yvþüy!Ýþ !˜îÅy‰þ˜ „þöìîûyéôôôé

„þV vþz_îûéôéþ™!Øþ› ¦þyîûöì“þîû ²Ìy‰þ#˜ ¦þ!A†œ þ™îÅ“þé ôôôé ˜#œ!†!îû

…V ”!Çþ’ ¦þyîûöì“þîû þ™)îÅîy!£˜# ˜”#ééôôôé ˜›Å”y

†V xy¨y›y˜éôé!˜öì„þyîîû m#þ™þ™%öìOîû !‰þîû£!îûê î,Çþé ôôôé ö›£†!˜

‡V vþz_îûéôéþ™)îÅ ¦þyîû“þé éôôôé „,þ¡Ö ›,!_„þy

1.9 ¦þyîûöì“þîû îû)‘þü îœy £ëûéôôôé

„þV ‹y›öì¢”þ™%îûöì„þ

…V ”%†Åyþ™%îûöì„þ

†V !¦þœy£zöì„þ

‡V öîy„þyöìîûyöì„þ

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

2.1 îyëû%îû é
ôôôééôôôééôôôééôôôééôôôééôôôééôôôéôôôééôôôééôôôééôôôééôôôééôôôééôôô 

²Ì!„Êþëûyëû îy!œ ç þ™!œ„þ’y ~„þ Þíy˜ öíöì„þ x˜Ä Þíyöì̃  xþ™¢y!îû“þ £ëûÐ

2.2 é
ôôôééôôôééôôôééôôôééôôôééôôôééôôôéôôôééôôôééôôôééôôôééôôôééôôôééôôôé 

vþzþ™“þÄ„þy þ™#îûþ™yOyœ ç vþzF‰þ !£›yœëû þ™îÅ“þöì×!’ myîûy öî!Tþ“þÐ

2.3  
ôôôééôôôééôôôééôôôééôôôééôôôééôôôéôôôééôôôééôôôééôôôééôôôééôôôééôôôé

 ö›ï¢%›# îyëû%îû ²Ì¦þyöìî ¦þyîûöì“þ Ÿ#“þ„þyœ ²Ìyëû Ÿ%Üñ ²Ì„,þ!“þîû £ëûÐ

3. îy„þÄ!Ýþ ¢“þÄ £öìœ ò!àþ„þó ~î‚ x¢“þÄ £öìœ ò¦%þœó öœöì…y õ 1 × 3 = 3

3.1 ˜”#…yöì“þ xî‡¡ìÅ ²Ì!„Êþëûyëû ¢,Tþ †“Åþ†%!œ £öìœy ›rí„)þþ™Ð

3.2 ¦þyîûöì“þîû vþzþ™„)þœ xMþöìœ !”öì̃ îûöìîœy Þíœîyëû% ²Ìîy!£“þ £ëûÐ

3.3 Ÿ%Üñ ç vþz¡Ö xyî£yçëûy ‰þy ‰þyöì¡ìîû þ™öìÇþ xy”ŸÅÐ



4. hßþ½þ ö›œyç õ 1 × 3 = 3

„þ hßþ½þ … hßþ½þ

4.1 !îŸ%å• „þy¤‰þy›yœ SiV ö„Êþ¦þy¢

4.2 ›yœyîyîû vþzþ™„)þœ SiiV “%þöìœy

4.3 !£›îy£ SiiiV „þëûyœ

5. ¢‚!Çþ® vþz_îû ”yç õ 2 × 4= 8

5.1 þ™œœ îÄ‹˜# ö„þ˜ þ™îÅöì“þîû þ™y”öì”öìŸ ¢,!Tþ £ëûÚ

5.2 ò¦þyîûöì“þîû þ™!Øþ›îy!£˜# ˜”#îû ö›y£˜yëû îm#þ™ †öìvþü çöìàþ!˜ó éôôôé ö¦þïöì†y!œ„þ „þyîû’ îÄy…Äy „þöìîûyÐ

5.3 òxÇþy‚Ÿöì¦þöì” !£›öìîû…yîû vþzF‰þ“þy !¦þ§¬ £ëûóé ôôôé ö¦þïöì†y!œ„þ „þyîû’ îÄy…Äy „þöìîûyÐ

5.4 ¦þyîûöì“þ ‹œ!î¦þy!‹„þy vþz§¬ëûöì̃ îû ”%!Ýþ vþzöìjŸÄ öœöì…yÐ

6. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3 × 3 = 9

6.1 •yþ™ ‰þy¡ì– šþy!œ ‰þy¡ì ç ¢öì›y§¬!“þ öîû…y îîûyîîû ‰þyöì¡ìîû ›y•Äöì› „þ#¦þyöìî ›,!_„þy Çþëû ²Ì!“þöìîûy• „þîûy ¢½þîÚ

6.2 !˜Á¬!œ!…“þ !î¡ìëû†%!œîû !¦þ!_öì“þ ˜”# vþzþ™“þÄ„þy ç !£›îy£ vþzþ™“þÄ„þyîû þ™yíÅ„þÄ !˜îû)þ™’ „þöìîûy éôôôé

„þV ¢,!Tþîû ²Ì!„Êþëûy

…V vþzþ™“þÄ„þyîû xy„,þ!“þ

†V xîÞíy˜

6.3 !£›yœëû þ™îÅ“þ›yœy „þ#¦þyöìî ¦þyîû“þ#ëû ‹œîyëû%öì„þ !˜ëûsþf’ „þöìîûÚ

7. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õé 5×3 = 15

7.1 !£›îyöì£îû ¢Mþëû „þyöìëÅîû šþöìœ †!àþ“þ !î!¦þ§¬ ²Ì„þyîû @ùÌyîöìîû…yîû ¢!‰þe î’Å̃ y ”yçÐ

7.2 ¦þyîûöì“þîû ö„þy˜ xMþöìœ x!•„þy‚Ÿ „þ!šþ vþzzêþ™y”˜ „þîûy £ëûÚ ~£z îy!†‰þy šþ¢œ ‰þyöì¡ìîû x %̃„)þœ ²Ìy„,þ!“þ„þ þ™!îûöìîöìŸîû
î’Å̃ y ”yçÐ

7.3 ¦þyîû“þ#ëû ‹˜‹#îöì̃  ˜†îûyëûöì’îû ö˜!“þîy‰þ„þ ²Ì¦þyî†%!œ vþzöìÍÔ… „þöìîûyÐ
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